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LA—93—2023
FACULTY OF COMMERCE
B.Com. (Second Year) (Third Semester) EXAMINATION
NOVEMBER/DECEMBER, 2023

COST ACCOUNTING

Paper-BC 3.2
(Monday, 11-12-2023) Time : 2.00 p.m. to 5.00 p.m.
Time—3 Hours Maximum Marks—T75
N.B. :— (i) Question No. 1 is compulsory.

(iz) Simple calculator is allowed.

(@) WY HHEE 1 SIFEr. e
(i) T TR WA TR
1. From the following information related to commodity X’, calculate : 20
@) Prime cost
(1) Works cost
(ziz)  Cost of goods sold
(v)  Net profit for the period

(v) Net profit per unit.
P.T.O.
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( 2

Opening Stock :

Raw materials

WIP

Finished goods (1600 Units)
Closing Stock :

Raw materials

WIP

Finished Goods (3200 Units)

Purchased of Raw materials

Carriage inwards

Direct wages

Works overheads
Factory supervision
Administrative overheads

Sales of finished goods

Selling overheads are ¥ 1 per unit sold.

During the period 25,600 units were produced.

TN ' G Selid Hifede SER hel

(@) JUE Iy
Gi)  TrHn i
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25,000

5,000

17,600

21,200
7,000
35,200

1,30,000
1,200

95,000
34,000

8,000
11,600

3,60,000
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o [a)

(i) Ta=t A 9l

~

(jv)  HIEHdA e TH

(v) Ul Uheh Tedes AL

YRYUT @heT : )
FHedt G 25,000
foramamor w4 5,000
ffHa A (1600 THa) 17 600

T TRy :
wed] Gt 21,200
foramamor &4 7,000
fafda Are1(3200 THeh) 35,200

Fedt TN ©RET 1,30,000

T o6 =94 1,200

Jag w 95,000

Tt sifyea 34,000

frator gaeror 8,000

ERIEIGE DL 11,600

fafHa A= fost 3,60,000

fawt stfyem T 1 wdl toe fas! Amemer.

T weEdEe Ha 7 25,600 Thh.
P.T.O.
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From the following information, calculate levels of stock :

8.

(4)

Average delivery time 25 days.

Minimum delivery time is 16 days

Maximum delivery time is 30 days

Minimum delivery time for emergency is 5 days
Average consumption per day is 30 units.
Maximum consumption per day is 40 units.
Minimum consumption per day is 15 units.

Re-ordering quantity is 700 units.

T Aifedi=a STUR, |iel W=l AT 61

T faqm 9@ 25 feaw TR
forae foam e 16 feog 3R

ST STed foraXor 98 30 feag ofme.

STl SRd S faaeor 9es 5 feaq 21w
FOEH oM WS 30 IAH TR

SR SR oM. SST 40 IHAH 3T

fFaM AR WS 15 I TR,

R-efréx ¥& 700 I 3.
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Or

(fenam)

Prepare a store ledger account for the following transactions using the FIFO

method of material issue :

Feb. 2022

1 Opening stock 120 kg @ Rs. 75 per kg.
2 Purchased 220 kg @ Rs. 76 per kg.

4 Issued 50 kg.

8 Issued 80 kg.

12 Issued 70 kg.

16 Returned from workshop 25 kg @ Rs. 76 per kg.
20 Issued 120 kg.

24 Purchased 250 kg. @ Rs 74 per kg.

28 Issued 70 kg.

30 Issued 60 kg.

geicel. FFeel UR FIFO TS WieR Josi &R & :

Thel. 12022

1
2

4

IRY ThY 120 fohell, & 75 Tdl el X
®Ret 220 fawall, & 76 WAl el X

50 ferell ST el (fiHia)
P.T.O.
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12

16

20

24

28

30
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80 fohall SIRY vt (Teieta)
70 fowmell WG el (fTHa)
FHRETesd Wd 25 fRal, udt feel & 76
120 fohall S& et (FriH)
W 250 fovell, & 74 wat fehen <

70 fowmell ST el (FfHa)
60 forell SO &var (fidma)

Standard time allowed for a job is 50 hours. The hourly rate of wages is 40

paisa per hour plus a dearness allowance @ 25 paisa per hour worked. 15

The actual time taken by the worker is 40 hours.

Calculate total wages under the following methods :

1.
2.
3.
4.

Time rate
Piece rate
Halsey plan

Rowan plan.

Teh! el fooren gardrd/Mefa 9 50 9 o1, 3Afeeh Hers vl 81 holedl
FEAES Ffd a= 25 TF YHE AR, (ARqEHE SHiET H YUl HIAEIST BT
I B40 TH R.) HE THA X 40 T Ufd I TR, Ve TSATHR TR

TR AUET R
1. . ®9F T Ugd
2. ST Ugd
3. B9 AN
4. REEERIEEIE
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Or

(fenam)
On the basis of the following information calculate the earnings of Ajay and
Atul on the straight piece rate basis and Taylor's differential piece rate system :
Standard production = 10 units per hour
Normal time rate = Rs. 50 per hour.
Differentials to be applied :

80% of the piece rate below standard and 120% of the piece rate at or above

standard.
In a 8 hours day :(— Ajay produced 70 units.

Atul produced 84 units.

TTeitd feoiedn ARidee ¥Xed el 6 d oiel fa= ShRicl TSaiJaR 39 9
Fere HSKIel AT Y
feifa/gAdiq Scmes = 10 T gfd ™

AT JHT 8T = 50 TUY yfd 99

e Al {9 ST AR I

THYIT SAIGATIAT ShHl 3THA ¥ ShiIe=al 80% YHIUI o WHTYIG Scdied fohal camdem

S 38 X HIEST=AT 120% JHTO.

8 A=Al Wehl fee@med 31/ @1 70 1 3cdIfqd hidl o 3T 81 84 T ScdTad hidl.

P.T.O.
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Calculate the machine hour rate from the following information : 15
1. Rent of department )
(1/5 area is occupied by the machine) 1560 p.a.
2. Lighting (out of 12 points, 2 points are for this machine) 576 p.a.
3. Insurance 72 p.a.
4. Cotton-waste etc. 120 p.a.
5. Foreman's salary 12,000 p.a.
(1/4 for the machine)
6. Cost of machine 18,400
7. Scrap value 400

It is assumed from past experience :

(@)
b)
(c)

That the working life of machine is 10 years.
That the machine will work 1800 hours annually.

That the estimated cost of repairs and maintenance will be Rs. 2,250

for the whole life.

(d) That the machine consumes 5 units of power per hour, rate of power
is 12 paise per unit.

Tl Aifgdieed I3 q qUel 0T 64 ®)

1. fawrmE W€ (I 1/5 S e $R) 1560 Tfas

2. UHW (12 diseUE! 2 Uige A FAH) 576 gfdad
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(9)
formn
HYH o TR
TheH daq (1/4 a1 FATHRT)
BRI
e qed

AR SIS 3 TE Bl SR ol

(31) I== A g 10 98 IR
(9) o7 oifties 1800 A M hildl.
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I IGEL]

120 Hfqerst
12,000 Gfeers
18 400

400

(F) T THAM 3RS SOl 9 SRUMEUTET 2,250 T ©E Ig.

(8) 7 I3 YA el 12 89 9fd Tk THO 5 Teheh K= ST hid.

Or
(fenam)
From the following compute machine hour rate :
1. Cost of machine
2. Installation charges
3. Estimated scrap value

(Life of machine 15 years)
4, Rent and rates for the shop per month
5. Insurance premium

For the machine (p.a.)

6. Repairs and maintenance (p.a.)

4C8B8718A4689426E2C71F1A859BACTE
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1,60,000
16,000

6,000

800

2,000
2,400

P.T.O.
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7. Power : 20 units per hour —
8. Rate of power per 100 units 60
9. Estimated working hours—

1800 hours (p.a.) —
10. Supervisors salary (p.m.) 2,000
11. General Lighting

For the shop (p.m.) 1,000

The machine occupies 1/5 of the total area of the shop. The supervisor

is expected to devote 1/4th of his time to this machine.

@elial Hifgdiaed I3 a9 W= AT &

1. REIEIE: 1,60,000
2. T © 16,000
3. SRIa. &% e (IS S Hies-15 a9) 6,000
4. IS o Y GhIhIAl ST 800
5. fom s« g=mEet (9fq o) 2,000
6. e @ WRo-doe (yfq a) 2,400
7. YRt : 20 Ueheh €T ATl -
8. KA SR-Ufd 100 Teheh 60

9. TUefid 1d AE-1800 o Wfd -

10. qd et dad (STHET) 2,000

1. A GehT9l gehlﬂehﬁm (ST 1,000
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I GHRMMAT THU SReR! 1/5 ST AT S A &hTh e el Jekiiel

1/4 I3 GeHd WIS SEREHS! TE evar e TR,
5. Write short notes on (any two) : 10
(@) Functions of cost accounting
(11) Bin card
(zizr)  Time rate system

(iv) Overtime.

FHIE AR dieRa few fawr .
(i) TRem araeaE S
@) o =

(i) 999 T ggdl

Gv)  AfHEHa.
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